BHEH JFA U-18Hyh—B IR —52022

A

SHEEM JFA U-18Hvh—EHIR1—52022

BE BE
GEIEIEE=IET R—Ls 74 =15 FE | BIE | F1F2 | A8 |s50E EEIEIEEXEIET R—L 74 215 - RIEEIEEAESS
4838 | 9:30 [NES 1 10| EM2nd HHSK | HF | HFE | HFE | #H | #H 4838 | 1445 XFHE 1 10| ZHEC | AHESK | BHFC| BHFC|EXFC| 2GR
4/2(4) 4838 | 13:00 Z5 2 9 ZPE |suEanky| BE | AR | AR | EFE| EPE 4/2(4) 4838 [ 10:00 2 2 9 EWEE ZEER T E = 2
T 4/3(8) 4828 [ 1200 Z@AE 3 8| —=IH |smiwaEsy|mimemE minemE| wimmE| meseE| s " 4/3(8) 4838 [ 11:30 HE 3 8 | Hih2nd HHESE | 0E | WE | 0 | 2.
4838 | 12:00 53 4 7| BHEREE LEER | EWE | BWE | BME| £2F | 4% 4838 | 15:00 B8 4 7 FHE saEEEXRE| B | B | B | EFE
4838 | 1645 [T X2 EB| 5 6 | EHIFC2nd | BT EEK | KR | KR | KFR | 24 0E | 240E 4828 [ 10.00 | &y 7EB | 5 6 | HEFEB |wipcEny A | E2HFE | S HFE |FEHE
48108 | 13:00| ZEZFfE 9 1 [NES 2EEERAE| BWE | FWE | BHME | ZFE | TFE 48108| 15:00 | E#EE 9 1 KEFR |[coRmfcz| 0E | 0E | 0E | Z2%F
4/9(4) 4810A] 930 | —=I% | 8 10| #MAE2nd HHEK | FE | HE | 2 | #H | #H 4/9(4) 48108] 1445]| H#ond | 8 10| £HEC | AHESK B snagsnsg 258
2|4/10(g) |4 B10E ] 1645 ZHIEAGE | 7 2 20 Z2EEER| BB | FF | BN (AR |EEE 24/10(g) |AA10H] 14:40 R 7 2 B TOAREE| EHf | 2@ | 27 [ BHFC
48108 16:20 | Z%IFC2nd | 6 3 2HE |[TORARERE| 2% | 4% | AK | BHFC| BHFC 4898 | 1200 | F:EFEB | 6 3 EES S—v7)—Fivi|BIRAE|BTAAE|BTAAE =
4898 | 10:00 | 2T KAEB| 5 4 = RK—o7y—+invg| ZgEE o ES S = = 48108( 11:30 | FEUFHAEB | 5 4 HE BHESR |[—=If|-=If|-=I%]| BH
48168 | 12:00 NS 1 8| —EIXN | AXWNESK| HM | FH | B | KR | KFR 48168| 1000 XAFFE 1 8| Eiond | KFESKR|—=18|—-sI8|-=T8| KFE
4/16(4) 48178 13:00 EFEE 9 7| BHEE |anEmax| BE | BE | AE | EFE | EFE 4/16(1) 48178[ 15:00 | E#EE 9 7 FHE 2EERN AR BNRE] Baget S| EPE
31708 48178 930 | #MH2nd |10 6 | BHIFCond | BEASK |Esmem| EmeE| EsmeE| 28 | 28 31417¢8) 48178| 1445 &®HEC [ 10 6| HEZEB | FHEER| = = E |&EE
48168 | 12:00 25 2 5 |BETRAEB|+»wrat—enx| HE | HE | FE | FE | FHE 4817H] 11:30 BE 2 5| BBHEB | BESK | BAFC| EAFC| EXFC| 2H
48178 1645 | ZHAEH 3 4 E Z2EEaR |merRlmesrR|merE 2R | 25 E 48168] 10:00 HE 3 4 BHE =osrat—venx| BH | BE | BH | FF
SHEE | 7 1 [NES FE 7 1 pNED
FEBHIFC2nd | 6 8| —=EIF HEFEB | 6 8 | HE3B2nd
s (82500 BTArEs| 5| |o]| Zom 4|20 S | 5 | - | 0| AIE
S 4 10| ZEAH2nd HE 4 10| &HEC
ZEH/E 3 2 B0 HE 3 2 ZH
NS 1 6 | 5IFC2nd pNGED 1 6 | HEFEB
DM | 7 5 | 2T K&EB faE 7 5 | [EE 7B
5 ;;g%; —=TF |8 4 1 5 ;;g%; B32nd | 8 4 HE
P 9 3 LW B 9 3 HE
#ME2nd | 10 2 Z40 ZHEC |10 2 ZH
BIKKEB| 5 1 [NES FEEHFEB | 5 1 KFR
= 4 6 | BHIFC2nd B 4 6 | HiEFEB
8|/ BEm o] |7 zawE 8|/ & |8 |71] me
Z5 2 8| —EIH AR 2 8 | HE3B2nd
ZhH2nd | 10 9 T ZHEC |10 9 EWEE
9/10(%) g |1 4 2 90/10(4) XFR_[ 1 4] _mE
9/11(H) BT RKELEB| 5 3 EHE 9/11(8) [EIEMFEB | 5 3 HE
7 B5IFC2nd | 6 2 20 7 FEFEB | 6 2 AR
X A SHEE | 7 10| EH2nd X Al fHE 7 10| ##HEC
LI —=T# |8 9| =2 I ®Hond | 8 9| EHE
9/17(%) SHE S L0 9/17(%) nE |3 ! M?f
9/18(H) EH 1214 = 9/18(H) 2R |2|-14] B
8 EH2nd | 10 5 BT KZEB 8 ZEEC |10 5 | [EBYLTEB
X RA EFE |9 6 | BHIFC2nd X IRA EHMEE |9 6 | HiEFEB
LRt —=15 |8 AT LR FHond | 8 7 AR
[NES 1 2 Z4N pNGEd 1 2 2
9/23
§j§j§§§ HBHE |3 10| ZMA2nd 9?24%; HE 3 10| &®HEC
9 z 4 9 EPEE 9 HE 4 9 AMEE
X &8 ZIKLEB| 5 8| —=EIH X RA el 7B | 5 8| ZHFond
L BEIFC2nd | 6 AR LR RBEB | 6 7 AR




RERF
HEE
BE
2|
EFE
I R 3 7

E
HEE

ZHIFC
=

M

AR®R

e

AEE

#H

HBE




